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84. RESFHLERKIR
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OB E M4 B 80 41 56 28 38
KE 12 17 9 10 1
b 75 50 45 39 37
XILEBERENH BE# 75 50 45 39 37
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e 10 1 9 7 8
o EEH B 10 9 7 8 10
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OB OB M| B - - - - -
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K& 4 2 4 3 -
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b 58 45 42 43 21
#EEH BE# 67 40 50 41 23
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= — — - 2 —
£ B F # | BE - - - 2 -
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TER24%E R 254 TER264E ERR2THE 284

Bl S G () 405 360 367 322 254

wOo% |’ EHEH W 147 102 119 114 90
BEANEBE N 78 90 68 78 55

E IR () 5 = 1 - 1

XEIL (& # &% U 3 2 1 - 1
BEAEBE AN 1 - 1 = 1

E IR S 311 264 284 217 186

BEL ||’ FEH B W 83 50 94 82 6
BEANEBE N 46 45 47 44 39

E IR () 17 13 8 16 11
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91. XKHRK

(1) Hk#H _
mukst | #Edor | mmas | mmkse | MER | oM *(fpf
TRk 23 & 13 - 4 - - 7 24 15, 357
TR 24 & 10 1 3 = = 19 33 24,919
TRk 25 & 18 2 3 - - 18 41 70, 343
TR 26 & 15 2 4 = = 22 43 312,115
F 2] & 10 0 6 - - 0 16| 8652
TR 28 & 13 0 2 17 32| 501,868
1 A i - 1 2 a a4
2 A 3 - - - - 1 4 -
3 A 1 = = = = 4 5 300
4 A 1 - - - - 3 4 7, 358
5 A - = 1 = = 1 2 23
6 B 1 - - - - 3 4 40
1H 1 = = = = 1 2 384
8 A 2 - - - - - 2 234
9 A - - - = = 1 1 -
10 A 1 - - - - - 1 409
1 A - - - = = 1 1 -
12 B 2 - - - - - 2 488, 406
(2) BHERR
FERE FRER
o4 v | mam | e e L
() () (a)
TRk 23 & 1 - 5 7 13 3,596.0 16.2 -
TRk 24 & 2 1 3 4 10 8,413.0 9.6 3
TR 25 & 13 2 9 8 32 13,100. 2 381.0 3
TRk 26 &£ 6 1 = 8 15 1,779.2 1.2 16
TRk 27 & 3 - 3 4 10 4541 60. 3 -
TRk 28 & 3 = 6 4 13 19,227.0 120. 7 -
(3) YRR
REi5E U 5t | ygin | BTY | e | o |tk
%E | E6E Fm | Fm (%)
TRk 23 & - 7 20 2.0 1,222 611 4.5
TRk 24 & - = 6 8 3.0 2,076 755 6.0
Tk 25 & - 13 30 3.4 5, 861 1,715 7.9
TRk 26 &£ 11 9 24 3.6 26, 010 1, 258 8.3
TRk 27 & - 3 5 15 1.8 721 865 4.3
TRk 28 & = 3 5 14 2.6 41, 822 15, 683 6.4
(4) RERIXHKEFEELKS (B4 - 4)
it FEC | BEE |(RErIf| BREE | Rk | 2ol | F5
TRk 23 & 24 2 - - 2 1 15 4
TRk 24 & 24 2 = = 2 5 18 6
R 25 & 33 5 - - | 30 -
TRk 26 &£ 43 6 = = = 3 32 2
TRk 27 & 22 - - - - 1 18 3
TRk 28 &£ 32 4 = = 1 10 13 4
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(B4 )
] B | kit | B | =W | B8 | B | .o | 58 | 4.
Bl KR g | ma | wm | wE | wm | ag | T | qa | B [ TOR
T 23 & 2,459 1 - 5 236 21 24 392 8 221 1,526 214
TRk 24 & 2,425 9 = 3 197 30 29 380 8 241 1,553 192
TR 25 & 2,458 13 - 4 231 32 21 415 1 211 1,514 196
TR 26 &£ 2,343 13 0 223 20 21 385 5 29| 1,445 192
T 21 & 2,598 9 8 203 35 17 412 3 23] 1,693 195
TR 28 & 2,612 1 1 183 27 20 377 9 17 1,757 200
1A 209 2 = 9 = 1 30 1 1 151 14
2 A 174 - - - 15 - - 21 - 1 122 15
3 A 242 = = 2 14 5 1 35 1 1 165 18
4 B 186 1 - - 12 2 1 39 1 - 117 13
5A 222 1 = = 13 = = 35 1 3 155 14
6 A 215 - - 2 13 4 - 21 - 2 154 19
18 209 2 = = 18 2 5 28 = 2 140 12
8 A 263 2 - 4 21 1 6 40 - 1 169 19
9 B 221 = = 1 21 1 = 34 3 2 137 22
10 A 200 1 - - 10 7 3 26 1 1 139 12
11 A 246 = = 2 19 3 1 36 1 1 160 23
12 A 225 2 - - 18 2 2 32 - 2 148 19
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B KL | gy $§ HE %gﬁ %gﬁ Hy | B | TOH

TRk 23 & 50 10 19 4 - 3 1 - - 13

Tk 24 & 55 10 30 4 - 1 - - - 10

ERk 26 & 61 13 17 2 14 2 - 1 - 12

ERk 26 & 50 9 21 3 - 2 2 1 12

Tk 27 & 37 0 17 2 3 0 0 15

TRk 28 & 32 14 0 1 1

1 A - - - - - - - - - -

2 A 3 - 2 - - - - - - 1

3 A 3 - ! - - - - -

4 A 3 - 1 - - - - - - 2

5 A 4 - 2 - - - 1 - 1

6 A 2 - - 2 - - - - - -

1A 1 - - - - - - - - 1

8 A 5 - 4 - - - - - - 1

9 A8 4 - 3 - - - - - - 1

10 A 2 - - - - - - - - 2

11 A 3 - - - - - - 1

12 A 2 - - - - - - - 1
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